
ME 1020 Engineering Programming with MATLAB 

Problem 7.17: 

 

% Problem 7.17 

clear 

clc 

disp('Problem 7.17: Scott Thomas') 

 

mux = 0; 

variancex = 4; 

sigmax = sqrt(variancex); 

x1 = sigmax*randn(1,100) + mux; 

x2 = sigmax*randn(1,1000) + mux; 

x3 = sigmax*randn(1,5000) + mux; 

y1 = x1.^2; 

y2 = x2.^2; 

y3 = x3.^2; 

y1mean = mean(y1) 

y2mean = mean(y2) 

y3mean = mean(y3) 

y1variance = var(y1) 

y2variance = var(y2) 

y3variance = var(y3) 

 

muy = mux^2 

variancey = variancex^2 

Problem 7.17: Scott Thomas 

 

y1mean = 

 

     4.6783e+000 

 

 

y2mean = 

 

     3.5945e+000 

 

 

y3mean = 

 

     4.0640e+000 

 

 

y1variance = 

 

    34.4373e+000 

 

 

y2variance = 



 

    26.4519e+000 

 

 

y3variance = 

 

    31.6796e+000 

 

 

muy = 

 

     0.0000e+000 

 

 

variancey = 

 

    16.0000e+000 

 

 

 

 

 

 


